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In how many years will Rs. 2,000 yield Rs. 662 as
compound interest at 10% per annum compound-
ed annually
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The amount received at 10% per annum com-
pound interest after 3 years is Rs. 10,648. What
was the principal (in Rs.)?
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The interest on ¥ 24,000 in 2 years compounded
otbt “]1’- % annually when the rates are 8% p.a and 10% p.a

0 successive years is:
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A certain sum amounts to ¥ 5,832 in 2 years at
8% per annum compound interest, the sum is
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A sum of ¥ 8000 will amount to ¥ 8820 in 2 years

if the interest is calculated every year. The rate of
compound interest is
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What is mpound interest on a sum of 4
7200 for 2@}7631'83 20% )p.a. interest compound-
ed yearly (nearest to an integer)?
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<94 ® What will be the compound interest (nearest to
Re.1) on a sum of Rs.25,000 for 2 years at 12%
@ TR p.a., it the interest is compounded 8-monthly ?
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A sum of Rs. 20,000 is invested for 15 months at
the interest of 10% per annum compounded half
yearly. What is the percentage gain, correct to
one decimal place, at the end of 15 months ?
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A sum of ¥18.000 is invested for 16 months at
8% per annum compounded half-yearly. What is
the percentage gain at the end of 16 months, to
the nearest whole number?
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If a sum of mo n compound interest becomes
three times in 4 yeays, then at the same interest

rate, the sum will become 27 times in:

C{ﬁ‘—@(ﬁ x'i Ifg whig U 9R 9 § Ishdfg oae W

"~ ™ ™
BRGNS G

| | g, d@ SH &N W W g8 M ' H 27 T @
~|—W 1 WH‘/ ST 2
(1) 15 years/ad ) 12 years/dd

05

0:45




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A sum of money doubles itself in 4 years at
compound interest. It will amount to 8 times itself
at the same rate of interest in :
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If the compoﬁﬁd interest for the 3rd and 4th year
on a certain principal is Rs. 125 and Rs. 135 re-
spectively, what is the rate of interest (in %)?
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A sum of ¥ 18,000 is lent at 10% p.a. compound
interest, compounded annually. What is the dif-
ference between the compound interest for 3rd
year and 4" year ?
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(1) ¥ 220.60 (2) #217.80
(3)  221.80 (4) 7 215.40
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An amount of Rs. 5000 becomes Rs. 7200 in 8
years at a certain rate of compound interest com-
pounded annually. What will be the compound
interest on Rs. 6550 in 4 years at the same rate
of interest ?
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If the compound interest on a sum for 2 years at

1 _ . .
125% per annum is ¥ 510, the simple interest on

the same sum at the same rate for the same period
of time is :
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The difference between the simple and compound
iInterest on a certain sum of money at 5% rate of
interest per annum for 2 years is % 15. Then the sum

IS .
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(1) 6,500 (2) T5,500 (3)Z 6,000 (4) T 7,000
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A sum becomes T 2,916 in 2 years at 8% per annum
compound interest. The simple interest at 9% per

annum for 3 years on the same amount will be
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A man borrows ¥ 21000 at 10% compound inter-
est. How much he has to pay annually at the end
of each year, to settle his loan in two years 7

Teh SAHT 10% Fehdfg =AM 9T 21000 FIT 1 F0T ol
21 B TY & 3d § Y aUer fomar Ui < w2 R
aul H U1 1 A &l S, ?

(1) 12000 (2) ¥ 12100 (3) ¥ 12200 (4) T 12300




